
  QP Code: 23/PT/4/IA 

  TE/PG(TH)10004  [ Turn over 

Ñ•àt¡ìA¡àv¡¹ šàk¡yû¡³ ( P.G. )  

[ÅÛ¡à¤È¢à”z š¹ãÛ¡à ( Term End Examination ) : \å>, 2023 / [l¡ìÎ´¬¹, 2023  

JOURNALISM AND MASS COMMUNICATION 

PAPER - IA 

PRINCIPLES OF COMMUNICATION 
 

Î³Ú – ƒåÒü Qsi¡à  šèo¢³à> – 50 

Time : 2 hours Full Marks : 50 

 ( ³àì>¹ P¡¹ç¡â« – 80% ) 

 ( Weightage of Marks : 80% ) 
 

š[¹[³t¡ * ™=à™= l¡üv¡ì¹¹ \>¸ [¤ìÅÈ ³èº¸ ëƒ*Úà Òì¤ ¡ú "Ç¡‡ý¡ ¤à>à>, "š[¹ZáÄt¡à &¤} "š[¹ÍHþà¹ 
ÒÑzàÛ¡ì¹¹ ëÛ¡ìy >´¬¹ ëA¡ìi¡ ë>*Úà Òì¤ ¡ú l¡üšàì”z šøìÅ¥¹ ³èº¸³à> Îè[W¡t¡ "àìá ¡ú 

Special credit will be given for precise and correct answer. Marks will be 

deducted for spelling mistakes, untidiness and illegible handwriting. The 

figures in the margin indicate full marks. 

 

 

[¤®¡àK - A¡ 

GROUP - A 

1. ë™ ëA¡àì>à áÚ[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> – 

 Answer any six of the following questions :  5 × 6 = 30 

a) ‘`¡àš> Òìºà [‡³åJã ¹àÑzà’ ¡ú ¤¸àJ¸à A¡¹ç¡> ¡ú 

 'Communication is a two-way street.' Explain. 

b) "”z³¢åJã `¡àš> A¡ã ? Î}ìÛ¡ìš "àìºàW¡>à A¡¹ç¡> ¡ú 

 What is intrapersonal communication ? Briefly discuss. 

c) š¸àì>º "àìºàW¡>à ëA¡à>ô `¡àšì>¹ š™¢àìÚ šìØl¡ ? A¡à¹oÎÒ ™å[v¡û¡ [ƒ> ¡ú 

 Panel discussion belongs to which communication ? Justify with 

reasons. 

d) [l¡[\i¡àº ³à‹¸³ A¡ã ? ¤¸àJ¸à A¡¹ç¡> ¡ú 

 What is Digital media ? Explain. 

e) "-ë³ï[JA¡ ³ìl¡º A¡ã ? l¡üƒàÒ¹o [ƒìÚ ¤å[c¡ìÚ [ƒ> ú 

 What is Non-verbal model ? Justify with example. 
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f) [‡-Ñz¹ šø¤àÒ t¡w Î}ìÛ¡ìš "àìºàW¡>à A¡¹ç¡> ¡ú 

 Briefly discuss Two Step Flow theory. 

g) ‡à¹¹Û¡à¹ t¡w[i¡ Î}ìÛ¡ìš [ºJå> ¡ú  

 Briefly discuss the Gate-keeping theory.  

h) A¡>®¡à¹ì\X A¡ã ? ¤¸àJ¸à A¡¹ç¡> ¡ú 

 What is Convergence ? Explain. 

i) ¤àìº¢à ³ìl¡º ¤¸àJ¸à A¡¹ç¡> ¡ú 

 Explain Berlo Model. 

j) ¤×Ñz¹ šø¤àÒ t¡w[i¡ Î}ìÛ¡ìš "àìºàW¡>à A¡¹ç¡> ¡ú 

 Briefly discuss Multi-Step Flow theory. 

k) l¡üÄÚ> `¡àšì> ë¤t¡àì¹¹ ®è¡[³A¡à "àìºàW¡>à A¡¹ç¡> ¡ú 

 Discuss the role of radio in development communication. 

l) *[š[>Ú> [ºl¡à¹ A¡àìA¡ ¤ìº ? l¡üƒàÒ¹o [ƒìÚ ¤å[c¡ìÚ [ƒ> ¡ú 

 What do you understand by opinion leader ? Justify with example. 

 

[¤®¡àK - J 

GROUP - B 

2. ë™ ëA¡àì>à ƒå[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ> – 

 Answer any two of the following questions :  10 × 2 = 20 

a) Å¸à>> "¸àr¡ l¡üÒü®¡à¹ ³ìl¡º[i¡ [¤Åìƒ ¤¸àJ¸à A¡¹ç¡> ¡ú 

 Explain in detail the Shannon and Weaver Model. 

b) Ko`¡àšì>¹ A¡à™¢P¡[º ¤o¢>à A¡¹ç¡> ¡ú 

 Describe the functions of Mass Communication. 

c) ëi¡[º[®¡Å> `¡àšì>¹ ³à>[W¡y šàìÂi¡ [ƒìÚìá ¡ú ¤¸àJ¸à A¡¹ç¡> ¡ú 

 Television has changed the Landscape of Communication. Explain.  

d) A¡à[Âi¡ì®¡Å> t¡w[i¡ ¤¸àJ¸à A¡¹ç¡> ¡ú 

 Explain Cultivation Theory. 

    


